
- Parts list -

Image ID: drawing_B32060000193

Item Part number Designation/additional information Qty

10 A 211 323 28 65 TORSION BAR

FRONT

 Code: -M005;

1

20 A 211 320 39 89 BAR

AT TORSION BAR LEFT

 Code: -M005;

1

20 A 211 320 38 89 BAR

AT TORSION BAR RIGHT

 Code: -M005;

1

30 A 220 990 01 51 NUT

ROD TO STEERING KNUCKLE M14; M14X1.5

 Code: -M005;

2

40 A 220 990 01 51 NUT

ROD TO TORSION BAR M14; M14X1.5

 Code: -M005;

2

Vehicle WDBUF65J13A168280 (64U) E 320

Color 744 - Brilliant silver metallic Equipment 831 - Leather anthracite

FIN: WDB2110651A168280 Assortment class PC

Group 32 SPRINGS,SUSPENSION AND

HYDRAULICS

Sub-group 060 TORSION BAR,FRONT

© Copyright 2022

Mercedes-Benz A
G

Parts Information

© Copyright 2022 Mercedes-Benz AG



Item Part number Designation/additional information Qty

50 N 000912 014086 CAP BOLT

ROD TO TORSION BAR; M14X1.5X40

 Code: -M005;

2

60 A 211 320 05 42



BRACKET

TORSION BAR FRONT TO FRAME TYPE INTEGRAL SUPPORT

 Code: -M005;

1

60 A 211 320 05 42



BRACKET

TORSION BAR, FRONT, LEFT

 Code: -M005;

1

60 A 211 320 06 42



BRACKET

TORSION BAR, FRONT, RIGHT

 Code: -M005;

1

70 A 211 323 00 57



* INSERT

TORSION BAR FRONT TO FRAME TYPE INTEGRAL SUPPORT

 Code: -M005;

2

80 A 211 990 00 01



* BOLT

RETAINING CLIP TO LONGITUDINAL MEMBER M24X2X19

 Code: -M005;

2

100 N 910143 010000 HEXALOBULAR BOLT

BRACKET TO FRAME TYPE INTEGRAL SUPPORT; M10X45

 Code: -M005;

4

Parts Information

© Copyright 2022 Mercedes-Benz AG


